Weather Optional
Grammar:  Present Progressive – The Negative Form

Remember that the present progressive tense is used to talk about something that is happening right now.

Is it snowing?

Yes, it is snowing.







Yes, it’s snowing.

We can also use the present progressive tense to say that something is not happening right now by using is not, it’s not or isn’t.


Is it snowing?

No, it is not snowing.






No, it isn’t snowing.






No, it’s not snowing.
Directions:  Answer each question using the present progressive tense.

1. Is it raining at your house?

Yes, it is raining.

No, it’s not raining.

2. Is the wind blowing?

Yes, ________________________________.

No, ________________________________.

3. Is the sun shining?

Yes, ________________________________.

No, ________________________________.

4. Is it snowing in the mountains?

Yes, ________________________________.

No, ________________________________.

Weather Optional
Practice Conversation #1

	Student 1:
	Let’s go skiing.

	Student 2:
	Where?

	
	

	Student 1:
	In the mountains.

	Student 2:
	Is it snowing in the mountains?

	
	

	Student 1:
	Yes.

	Student 2:
	OK.  Let’s go!


Weather Optional
Practice Conversation #2

	Student 1:
	Let’s have a picnic.

	Student 2:
	Is it cloudy outside?

	
	

	Student 1:
	No, it’s not cloudy outside.  It’s sunny.

	Student 2:
	Is it warm?

	
	

	Student 1:
	Yes.

	Student 2:
	OK.  Let’s go!
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